j/é’]f]/lV.lS

3 1 2 & SRR

V.18 ZCEHIpvEIfR ~ 4 v A R Y

du
Il

Corite = #2581 C- ) By (g CHFF1) ) oY
130 R & - prfg » d AR ET Y - R e - R R ?J%%JF?EF'J%
RN CARE SR A N e S IR DI 2h /RE S
[UESEE 2 SEF AT EE SoNT R EJFT‘J“ El\%lﬁ,}ﬁﬁﬂ%%n R
£ 1 o

o0

2. <%ﬂ@fﬁ$*fM%7>(ﬁ@<ﬁm>>ﬂ6HW$%’
§F{ﬁ»‘ﬂ[ﬂ:“\%’§ﬁﬁﬁ UﬁIE‘IFIJ E‘TF?% ,JJ)F[E[H;F)Z(;L- L‘ﬁFJ/
LW - P%*ﬂb<m@>mﬁbwﬂﬁkjﬁﬁﬁémﬁwﬁ
[ -

3. HoE R E FT;J;% IRl SN SRR 7 N SN AN (T
4OFE R FEFUfp g o

FYEEHIPVE R Y 4 PV B A PR

Frig >d AH2EBEHAVFEAIYES

4. SRR i A R R N T i
- 3 R SO R Y F BT BR YA A o F RT3 P S
S SN SNRINTE @53 -SUN SR A el SRRk ok Al e e
T O T E R ORLD N R T LR R PR O R T
) T F= R B A SO A AR o S O R P R A A

2000 = 10 4/

S
-
‘\m.,l
u



jf?ff]/lV.lS

> CH 1Y BT 130(2)f# L > FIIRK 5 P sE IE  p
(R H ) (3% 112 ) 5% 'Vﬁ“%ﬂ .

w7 9l 1 R
> UCRENTEE ST R R Sl B
SR R TR R PR BRI W S R TP E
**Wﬁﬁ%<ﬁﬂﬂﬁﬂwﬁWP@kﬂ>’wﬁim%ﬂ@wﬁo
(Epr e s T B E WA R D 30 B i RERI O R N R
B e Fh AN R e g 1 [ﬁﬁﬁfrﬁ?{‘— i | FTJ K /le\ .

TR 8 11 9 1 B

7. PorprTpE S AP R - W T yﬁgrqul:g—rm
Wﬁ’Mﬁ@T?ﬂ<ﬁm>W%ZQWﬁmwwgwﬁ“@rz<m
5 HK$48,000) o [l [0 ¢ R R o R R

43R FEIEY M §F4ﬁ‘“ﬂ |ﬂﬁﬁu|ﬁﬁﬁfj[}<{§<ﬁ/ﬁ gF'ﬁ:H ME - P
Wﬂﬁw%ﬂ W%”%*@EW R N S A
g R R RS fl‘/ﬁl THY A §F4ﬁfﬂ MHE Y R A

ﬁ°ﬁawﬁﬁ@ﬁ}ﬁiﬁﬁm B (B LR T e

8. UIEUIR N AT SR HERE RS 0 P I8 T Y R R
- DI RLFE R R A B A o T e~ i H AT Ry b
JF[JE@Fi}zﬂjﬁglﬂgﬁj*ﬁgap AAE o Frig td I F”TE ¥ 35 ( “‘J?FI
&l ]FF IJJ =T Y ﬁréiaaj Jﬂjﬁﬁ ) Fui B RV ) A8 ) S g;tgj ,
TR RR liiﬁ%ﬁwiﬂﬁ

2000 7 10 %/

&
N
Ty
y



jfﬁf]/lv.18

MR A

9. FATHES B0 0 S BT I L S
Howp A= CRP) & 0 Bk B8 3 5 R B o A ] (TFJWU%
Jﬁ A F ILDHHTU o Y E 33{%' cER R CRE) W ERE A

=

10. HE R = f*i?i‘ R E\JJ“ po st 3o [ gﬁiﬁffmﬂ ’ ?Ti‘

ST B ﬁ@wﬁ?;~@oww’%%ﬁa£@ﬁ<¢ﬂﬂ@$>
o Rl e AR R P G JRLE e B PR R B SR R R T
f SIS FR R R E

&
w
Byl
y

2000 = 10 4/



V.18 -/
FlrE A Eﬂ*@ < /79%//77/5'9/1’7’?/9 7]

2T B

1. ﬁiFJ“FUEJE'ﬂ‘rfﬁJ TEE 12 5] 31 fIAdad -

2. FIf@ Wpupf =7 & F 3 K] 31 FIA%Ah -

3. FIfg ~d 7 2000 =+ 12 F] = pFHFE] -

4. PR 7 B AR R o ”P%T'— [t 2] ¥ [ 7 ;siT Bf % 5 pjr‘%ﬁfiﬁf I J8 = 55 3

BL P[0 g BLAM > AT 4 F] 30 PR F T -
5. PR 2 0] N R e ALA S A

2000 =+ 3 F| 31 [!

¥4 £3,$150,000
% 4E1 +1.$10,000
] £3,$200,000

2001 # 3 | 31 [!

2002 # 3 F| 31 f!

2000 = 10 4/ i



< (] 2000 # 12 F| iy
$637 (“Il] $150,000 x
5% 31/365) #ifili:
e

T 5 98 il
[EIEE RIS
(B -

IV.18 -/

OPRLE T 2001 5 12 F] 31 [ I Vsl (987,500
(1$150,000 x 5% ) Jrifii f # » 5 2h v R4 1 -

v \ v
12/02 1/01 4/01 5/01 12/21 1/02 4/02 5/Q2 7/02 10/02 12/22 1/03 4/03
AEFH &= 2001 AR prEE
7 3 F| i Ay L 2002 &+ 3 FJfy

FsH k& = 2001
=12 FIpu)E
IO B OELES
$150,000 -

2000 = 10 4/

BB > T
ﬁ‘ o

REdpFE = 2002
12 HfSRI S 0T
il 14380

1 LA -
RELPTI -

=R E = 2003
=+ 12 FIpuEH R
R RS
$200,000 -




WE R >4 EEREF T

+ 42000 # 12 7] {3t
$625 ( 2[1$150,000 x
5% / 12 )it 4 -

=7 [ $625 (]
$150,000 X 5% /
12)-

2002 i3 1| 5 1|
{19625 ([$150,000 X
5%/12) -

FHHIE Y 2008 #5
ElH# $833 (]
$200,000 x 5% / 12) -

IV.18 -/

v
A
v ~ —~ Y
12109 1/01 401 5/01 7/01 10/01 12/01  1/02 402 5/02 7/02 10002 12/02 1/03 4/03

2001 ¥ 3 F|fit 2002 & 3 F|fit

PENETTIE g A

Fl 'ﬁ??’fl‘i’ EE ﬁii‘f%ﬁi'» EE
RERRH = RERR R = REHRH =
2001 # 12 *[fiv 2002 12 *[fiv 2003 & 12 *[fi
il ot i il ot A 17
L T ELEESO - L
$150,000 - $200,000 -

2000 = 10 4/




